
Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

Automation
2145041 2145041 Relay, DPDT 120 V.AC Coil 132.70$         

2171013 Cable, 22/1 PR PVC Foil Shield 2.90$             per foot

2198006 2198006 Standoff, 6-32 x 1/4" 3.20$             

2198011 CPA-10 Relay (39121) 22.60$           

2198075 2198075 Dual Analog Dimmer, AD-4K 1,495.00$     

2198079 2198079 Dual Analog Dimmer, LCS-4K 1,720.00$     

2198080 3198080 Digital Power Panel, LDP-2K 600.00$         

2198081 2198081 Digital Power Panel, LDP-4K 885.00$         

2198083 2198083 CiniNet Dimmer, CLD-4K 1,570.00$     

2198085 2198085 Analog Dimmer, AD-4K 1,495.00$     

2198517 Dimmer Control Card (37627) 723.50$         

2198700 Dimmer Module PCB, 120V (37645) 301.90$         

2200021 Lid, Dimmer SD Style, 120V 20A 63.20$           

3200802 80470188 Wire Harness, Iris Motor 100.10$         

5121004 Fuse, 1/4 A. (Replacement,  CNA-200 CB) 3.80$             

5145008 5145008 CNA Relay, 12 V.DC (K1-K5) 22.40$           for 39332

5161019 CNA Switch, SPDT, On-Off-On 26.80$           

5162006 39434 Input/Output Board 191.60$         was 39334

5162007 39431K 39431 House/aux board with I/O 786.40$         was 39331

5162008 39432-2K Film Board with I/O 697.30$         was 39330-C

5162009 39432-1 CNA Single Terminal PCB Combo without I/O 728.70$         was 39332

5164010 640011 CNA Power Supply Transformer 202.60$         

5171002 5171002 Cable, 22 Ga. (4) Conductor 2.70$             Belden 8723

5171011 39347 LIN Cable Assembly, 60 in. 95.10$           

5171032 5171032 QSC Monitor Cable, (4) Ft. 29.30$           DPC-4

5171035 39448 QDC Automation Cable 60.20$           

5171036 39447 QDC Automation Cable 63.60$           

5172008 39325 CNA 100/200 Main CPU PCB Assy without Chips 1,654.50$     Call for Availability

5172010 39327-1 CNA 200 Display PCB Assembly 630.30$         

5172011 39335 CNA 200 LCD Graphic Display PCB 829.20$         

5172026 39432-1K CNA Single Termination PCB Kit Combo with I/O 937.60$         was 393321-C

5198081 39319 CNA Fluorescent Replacement Lamp 115.40$         

5198189 39436 Auxiliary I/O Board, CNA Termination 356.30$         less Hardware

5198190 39436 Auxiliary I/O Board, CNA Termination 367.50$         with Hardware

5198217R 5198217R FP-350 Cue Detector, Single (Rebuilt) 200.00$         

5198304 39328 CNA Power Supply 311.10$         

5198340 39324 CNA Upgrade Chip Software 136.70$         Must specify version and model

5198350 39443 CNA-150 Dimmer Power Cable 32.70$           

5198359 39520 CNA-150 Front Panel metal and overlay only 2,040.00$     

5198373 Volume Control Board RVC-5 Complete 440.10$         

5198407 37715 Single Proximity PCB for FP-350 396.60$         

5198416 39323-1 Front Panel, CNA-200 450.00$         

5198471 3931.3 eCNA-100 Front Panel metal and overlay only 455.10$         

5198473 CNA 200 Front Panel metal and overlay only 462.20$         

5198474 393.13 eCNA-100 Front Panel metal, overlay and switches 587.80$         

5198475 395.2 eCNA-150 Front Panel metal, overlay and switches 515.00$         

5198476 393.23 eCNA-200 Front Panel metal, overlay and switches 566.10$         

5198478 5198478 Panel, Switches, Board; eCNA-150 2,131.80$     

5198913 5198913 Test Film, Buzz Track; 50 Ft. 562.50$         SMPTE No. P35-BT-50

5198915 5198915 Test Film, Dolby Tone; 50 Ft. 90.00$           Dolby Cat. 69T

5198916 Test Film, Pink Noise; 50 Ft. 90.00$           Dolby Cat. 69P

5198917 5198917 Test Film, Crosstalk 130.50$         Dolby Cat. 97

5200199 39346 Cable, Curtain & Lights, Manual 93.30$           

5200558 39449 Cable, Manual Masking Override 80.90$           

5200591 39443 Dimmer Power Cable Assembly 26.70$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 1 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

5290123 5290123 QDC Light Control, 2 x 2 Kw 865.00$         

7200727 7200727 QDC Light System, 1 x 2 kW 465.00$         

7201217 7201217 Inner Tube, Welded Assembly 193.60$         

General
00M15315 M15315 Arc Stabilization Magnet, 3 kW-7 kW 126.20$         

01026000 01026 Compression Spring 5.80$             

01704000 1704 Hitch Pin 2.00$             

02411000 2411 Washer 6.30$             

10048A00 10048A Knob, Red 9.00$             

1109013 1109013 Caster with Brake 19.50$           

1109013 Caster with Brake 19.50$           

1456000 1456 Paper Fastener, #2 x 1/2 Round Head, Brass 2.00$             

15010000 15010 Compression Spring 3.80$             

15010000 48108 Compression Spring 3.80$             

1532000 1532 Screw, 8-32 x 7/8" Socket Head 2.00$             

1796000 Order 4310750 2.00$             

18194000 18194 Shoulder Screw, 1/4 x 1-1/4 10-24 4.60$             

19893000 19893 Boomerang Heat Shield Assembly 112.80$         

2114001 Contactor 3 Pole 110V 50A W/ Box 280.30$         

2121015 39198 Fuse, 1.5 A 3.40$             

2121016 2121016 Fuse, 1 Amp. Standard 4.40$             

2146059 39158 Resistor, 100k Ohm, ½W 2.00$             

2146059 39151 Resistor, 150k Ohm, ½W 2.00$             

2161194 41188 ON Switch 28.90$           

2161198 71108 CHANGEOVER Switch 31.30$           

2161198 71105 START Switch 31.30$           

2161199 Switch Cap 12-1W1 RED 11.10$           

2161206 Cap 11.40$           

2161214 71109 AUTO Switch 51.60$           

2161216 71110 LAMP Switch 50.20$           

2161219 Cap 11.80$           

2161224 Circuit Breaker 15 Amp 28.30$           

2161230 2161230 Distribution Panel 165.70$         

23059A00 23059A STRONG Insignia 19.90$           

23063000 23063 Aperture Plate, Cord Alignment Kit 32.10$           

23466000 23466 Dummy 2.78 Lens & Cord Assembly  for Aligning Kit 40.80$           

23754000 23754 Flanged Dichroic Reflector, 15 2,268.10$     Super 80, Ultra 80, Highlights

23755000 23755 Flanged Dichroic Reflector, 11 1,481.60$     

23756000 23756 Flanged Dichroic Reflector, 10 1,492.50$     

23756000 65974 Flanged Dichroic Reflector, 10 1,492.50$     

23829000 23829 Hose, 9 Dia., Fibreglass 51.80$           

23830000 1116335 Hose Clamp 12.20$           

23830000 23830 Hose Clamp 12.20$           

23833000 23833 Concealed Pull, Access Door 27.00$           

23868000 23868 Rocker Switch, Momentary; Volts 32.80$           

23872000 23872 Male Connector, (2) Position 2.00$             

23914000 23914 Spacer Block, Air Duct 108.80$         

23939000 23939 Blower Assy, Dual Squirrelcage, 115VAC, 50/60 Hz 240.50$         

23942000 23942 Cover Panel, Off-Operator Side 48.40$           

23943000 23943 Cover Panel, Operator Side 47.30$           

23958000 Blower Screen Cover 10.40$           

23976000 23976 PC Board Assembly, Digital Display, Console 407.50$         

23980000 23980 Insulator Plate, Fibre 19.30$           

24040000 24040 Front Bulb Support Mount 110.90$         

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 2 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

24086000 24086 Rocker Switch, Wired Assembly 33.40$           

24087000 24087 LCD Display 125.40$         

24115000 24115 Mounting Stud, Color Boomerang 50.10$           

24116000 24116 Rocker Catch, Color Arm 57.30$           

24150000 24150 Cover Plate, Bulb Adjust Mechanism 65.20$           

24179000 Cathode Support Collet, 2kW and below 92.00$           

24180000 Cathode Support Collet, 3kW, .551 Pin Dia. 94.80$           

24181000 24181 Cathode Support Collet, 4-7kW 98.50$           

24201000 24201 Cathode Support Collet; 2.5kW, 2 & 3kW HS 129.90$         

24236000 24236 Printed Circuit Board Assembly, Analog Control Panel 109.30$         

24243000 24243 Analog Control Panel Assembly 445.40$         

24249000 24249 Digital Control Panel Assembly 521.10$         

24249R00 Lamp Control, Highlight II Digital 521.10$         

24262000 Wire Assembly, Feed-Thru Terminal 80.80$           

24263000 24263 Binding Post & Positive Lead Assembly 254.40$         

24264000 24264 Negative Lead, Shunt to Igniter 35.90$           

24265000 24265 Lead Assembly, Igniter to Contact Clamp 42.20$           

24275000 24275 Voltage Divider Board Assembly 54.30$           

24280000 Super Highlight II Harness, Ignition Cap 14.90$           

24288000 24288 Projection Lens, Super Trouper II 1,350.00$     

24289000 24289 Negative Lead, Xenon Power Supply to Lamphouse 37.20$           

24292000 24292 Filler Panel, 10.5 36.10$           

24317000 24162 Reflector Assembly, Dichroic Coated, 10 Dia. 2,151.80$     

24317000 24317 Reflector Assembly, Dichroic Coated, 10 Dia. 2,151.80$     

24327000 24327 Negative Lead Assembly 52.30$           

24327000 24827 Negative Lead Assembly 52.30$           

24332000 24332 Cover, Light Shield 12.70$           

24345000 24345 Circuit Breaker, 5A 57.80$           

24346000 24346 Circuit Breaker, 20A 59.10$           

24347000 24347 Circuit Breaker, 10A 50.80$           

24348000 24348 Circuit Breaker, 15A 50.80$           

24361000 24361 Nylon Insulator, Igniter Post 34.30$           

24364000 24364 Bottom Cover, Center (Igniter Access) 54.20$           

24367000 24367 Blower Bracket, Welded Assembly 21.00$           

24368000 24368 Blower Duct, Welded Assembly 422.60$         

24372000 24372 Iris Back Plate, Split Ring 130.10$         

24374000 24374 Iris, 101mm (4) Dia. 262.20$         

24374k00 24374K Type III Iris, Refit Kit 580.70$         

24381000 24381 Filler Blank, Distribution Panel (Small) 6.00$             

24395000 24395 Console Wire Harness, with MS Connector 420.50$         

24406000 Magnetic Switch Assembly (Door Interlock) 39.60$           

24407000 Lamp Control Harness HL & SHL 393.90$         

24418000 24418 Digital Display Assembly, Super Trouper II 611.60$         

24430000 24430 Cathode Contact Clamp, 18mm (OSRAM 5kW) 66.50$           

24432000 24432 Cathode Support Collet, OSRAM 5kW 210.70$         Ultra 80

24433000 24433 Cathode Support Collet, OSRAM 5kW 159.20$         Highlight II, Super Highlight II

24442000 24442 Current Adjust PC Board Assembly, CID 197.30$         

25017000 Db3D18 Precision Shim Spacers 8.30$             

25023000 25023 Lamphouse/Power Supply Interconnect Cable Assy 759.80$         

25024000 25024 MS Connector, Wired Assembly 257.60$         

25028000 25028 Circuit Breaker, 5A, Slow-Trip 57.40$           

25034000 Iris Clamp 32.30$           

25047000 Cable, 6 AWG (AMC) 385.20$         

25063000 25063 Handle, Spot Size Control 55.50$           

25088000 25088 Large Pulley, Focus Control 56.30$           

25093000 25093 Side Light Baffle Assembly, Super Trouper II 24.40$           

25098000 Super Trouper II Digital Display 418.60$         

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 3 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

25108000 25108 Console Front Blower, Wired Assembly, 115VAC 447.70$         

25109000 25109 Console Top Blower & Plug Assembly, 220VAC 323.80$         

25110000 25110 Console Top Blower & Plug Assembly, 115VAC 322.30$         

25112000 Magnetic Switch Choke 31.60$           

25176000 25176 DC Wire Harness, Super Highlight II 362.40$         

25184000 Switcher, MS Console Upgrade Kit 496.90$         

25191000 25191 Digital Meter Board Controller I.C. 65.80$           

25198000 25198 Support Collet Assembly, 3kW HTP Bulb 183.20$         

25199000 25199 Support Collet Assembly, 2kW HTP Bulb 297.40$         

25200000 Air Vane Switch Assy 40.80$           

25214000 25214 Rear Door Handle, Recessed 11.70$           

25214000 71174 Rear Door Handle, Recessed 11.70$           

25218000 25218 Noise Suppression Capacitor 15.70$           

25236000 Quadrant Lamp Yoke Weld Assembly 171.10$         

25237000 Gear Motor, 1.8 rpm 211.60$         

25261000 HTP Anode Lead Assy 169.10$         

25344000 25344 Transformer Bypass 22.50$           

25345000 25345 Outlet Cover Plate 8.00$             

25347000 25347 CID Cathode Collet Assembly 132.00$          8mm, 2, 2.5, 3kW HS

25349000 25349 CID Cathode Collet Assembly 118.90$          8mm, 4 - 7kW

25355000 25355 CID Cathode Collet Assembly 124.70$         14mm, 3kW Standard

25361000 25361 Flanged Dichroic Reflector, 12.8 1,919.90$     

25372000 25372 Lamphouse Interlock Screw 18.40$           

25376000 Top Blower Receptacle Assembly 57.10$           

25383000 25383 Terminal Board Ass'y, (19) Position 204.80$         

25385000 25385 Distribution Panel Assembly 233.00$         

25396000 Captive Screw, 51-16-809-24, 10-32 17.20$           

25399000 25399 Breaker Panel, 3 Phase 22.40$           

25426000 Adapter, 4.5-6 kW HTP 184.70$         

25443000 MBO 15-25 kV Igniter 365.40$         

25473000 High Voltage Pulse Transformer 107.60$         

25476000 25476 Printed Circuit Board, Pulse Igniter 287.10$         

25612000 Reflector, 15 DPL 3,129.70$     

25860000 25860 Aligning Tube, Round 9.00$             

3107023 90719017 Bushing, 5mm x 5mm 4.20$             

3108010 80220005 Capacitor, 40 µf, 250 V. 26.00$           

3110026 90410023 Cable Clamp, Black Nylon, 3/16" 2.00$             

3113442 Connector Strip, I.C. Socket Header 7.20$             

31206000 Blower, X-90 159.10$         

3121050 90403001 Fuse, 6.3 Amp. Standard 3.00$             

3121051 90402022 Fuse, 4 Amp. Standard 3.80$             

3121052 90402007 Fuse, 2.5 Amp. Standard 3.80$             

31215000 31215 Relay, 120VAC Coil (KUP11A35) 59.70$           

31217000 31217 Mounting Spacer, Douser Catch 29.00$           

3123007 99430006 Trans Gear, Litho Wheel 6.10$             

31243000 31243 Bulb Adapter, 1-1.6kW Anode 130.00$         

31244000 31244 Bulb Adapter, 1-1.6kW Cathode (Threaded) 61.40$           

31245000 31245 Bulb Support Casting 143.70$         

31269000 31269 Air Deflector 18.20$           

3129006 99320094 Box, with Foam & Inserts 106.40$         

31322000 31322 Bulb Support Pedestal, X-90 117.80$         

3133030 99270070 Stepper Motor, 15.4 V. Short Shaft 46.40$           

3140061 90404002 XLR Connector Housing, Male 7.80$             

31410000 31410 Igniter Lead Insulator Bushing 66.00$           

3151004 3151004 Shoulder Bolt, 1-3/4" x 1/4" Dia. 4.70$             

3161134 3161134 Thermal Switch, Open at 325° F. 16.30$           

3161137 90405290 Pushbutton Switch, Momentary 2.50$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 4 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

3164062 90602047EF Transformer 80.30$           

3172080 80040019 Sensor Board Assembly 24.20$           

3173138 90307033 Motor Driver I.C. 12.70$           

3175001 90606005 Technobeam Igniter 31.40$           

3175002 99230006 Ballast, MSD 250 (Technobeam) 56.30$           

31865000 MS Harness, X-90 259.40$         

31875000 31875 Thumb Screw, 10-32 4.30$             

31902000 31902 Exhaust Air Vane Switch, Add-On Kit (X-90) 118.00$         

31934000 31934 X-90 Bulb Adapter Kit (1000 - 2500W) 747.80$         

31935000 31935 Igniter Lead Assembly 28.50$           

31943000 31943 Igniter, AC Control 1,727.80$     

31980000 31980 Douser Catch Assembly 23.90$           

3198103 90724007 Cap, Light Valve Bumper 4.10$             

3200615 Gearmotor, 90 V.DC 895.00$         

3200633 80170016 Front Mirror, less Bracket 123.80$         

3200634 80071121 Technobeam Mirror Bracket 16.00$           

3200636 80180004 Elliptical Mirror with Mount 189.80$         

3200637 Compound Lens Holder 11.80$           for 80160034 Lens Assembly

3200638 99220012 Cover, Slide Yoke 2.50$             

3200639 80170019 Mirror Head Assembly 315.20$         

3200640 99430009 Drive Gear, Effects Wheel 10.40$           

3200642 90705011 T-Handle with Threaded Stud 4.60$             

3200643 80200043 Litho Wheel Assembly 794.70$         

3200644 99430087 Transfer Gear, (72) Tooth 34.50$           

3200646 90701311 Compression Spring, Glass Holder 2.80$             

3200655 99430082 Transfer Gear, (72) Tooth 23.90$           

3200660 80510225 Color Filter, 1.125" Pink 48.40$           

3200661 80071113 Technobeam Mounting Yoke 100.60$         

3200662 80071140 Side Panel Extrusion, Male 94.00$           

3200663 80071488 Rear Bezel, Molded 91.90$           

3200664 99310310 Side Label, "Technobeam" 22.60$           

3200665 99310318 Side Label, "Iris" 6.10$             

3200667 90409045 Wire Harness, Motor Extension 26.80$           

3200668 99260113 Lens Tube, Top 6.60$             

3200669 90721005 Focus Drive Screw 46.00$           

3200670 80320011 Service Door Assembly 57.00$           

3200671 90411043 Extension Cap 2.50$             

3200672 80510221 Color Filter, 1.125" Orange 48.40$           

3200674 80510223 Color Filter, 1.125" Red 18.50$           

3200677 80510228 Color Filter, 1.125" Indigo 48.40$           

3200678 80510229 Color Filter, 1.125" Green 48.40$           

3200679 80510230 Color Filter, 1.125" Blue 48.40$           

3200680 80510231 Color Filter, 1.125" Dark Blue 48.40$           

3200681 80510232 Color Filter, 1.125" Aqua 48.40$           

3200683 29142022 Litho, Gatling Gun, Indigo 56.40$           

3200684 29141103 Litho, Rip Wheel 50.50$           

3200685 29141104 Litho, Silcsquare 50.50$           

3200686 29141098 Litho, 3D Squares 50.50$           

3200687 29142023 Litho, Techno Wedges, Red 57.90$           

3200689 29142024 Litho, Lumoil, Pink 57.70$           

3200690 29142026 Litho, Rounded Triangle, Indigo 57.90$           

3200695 80071349 Technobeam Center Plate 79.70$           

3200698 80420014 Window Glass, Mirror Head 22.70$           

3200699 80470158 AC Power Cord Assembly 37.60$           

3200705 9070111 Retainer Strap, Access Door 11.70$           

3200706 90719019 Pan Bushing, 1.5" O.D. 6.50$             

3200708 90724002 Handle, Rear Bezel (Left & Right) 10.70$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 5 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

3200709 90724005 Plastic Plug, Snap-In 2.10$             

3200715 99090032 Front Lens, 13° 79.30$           

3200718 99130011 Technobeam Reflector, Rear 22.40$           

3200719 99130012 Technobeam Reflector, Front 55.60$           

3200723 99260122 Reflector Bulkhead 16.60$           

3200728 80010112 Logic Board Assembly, Technobeam 995.00$         

3200731 9931026 Label, Rear Bezel (Right) 18.20$           

3200735 99350025 Mirror Head Housing, Molded 61.40$           

3200744 99430031 Trans Gear, Effects Wheel 4.60$             

3200745 80140021 Motor Brake Assembly 9.00$             

3200746 99270071 Stepper Motor, 3 V. 46.40$           

3200747 80010081 XLR Connector PC Board Assembly 59.80$           

3200748 99260114 Lens Tube, Bottom 6.60$             

3200761 80580021 Hot Mirror and Plate Assembly 35.00$           Order 3200796

3200778 90410095 L.E.D. Support/Insulator 11.20$           

3200781 90702139 Hex Spacer, ½" 3.60$             

3200782 90706073 Aperture Washer, 1" O.D. x .88" I.D. 2.50$             

3200784 90404001 XLR Connector Housing, Female 7.80$             

3200785 99270072 Stepper Motor, 15.4 V. Long Shaft 46.40$           

3200786 80071458 Cap, Mirror Head Molding 24.70$           

3200788 99430012 Litho Drive Gear, with Hub 9.40$             

3200794 90701108 Spring, Glass "Effect" Holder 8.40$             

3200796 80580026 Hot Mirror & Mntg. Plate Assembly 56.20$           

3200799 80470159 Wire Harness, Igniter/Ballast 66.90$           

3200804 99150020 Lamp Socket & Plate Assembly 72.80$           

3200807 80190026 Color Wheel Assembly 324.50$         

3200810 29142025 Litho, Lumoil Yellow 57.70$           

3200811 90701137 Coupler, Motor to Focus Shaft 64.80$           

3200816 99400017 Hub, Front Mirror Rotation 54.00$           

3200824 99310255 Logo Label, Mirror Head, Front 6.40$             

3200826 99310265 Label, Rear Bezel (Left) 18.20$           

3200827 99290020 Technobeam Iris, 30mm 102.50$         

3200828 99290021 Clevis Assembly, Iris Linkage 15.30$           

3200832 80070262 Motor Bracket, Mirror Tilt 19.50$           

3200836 80071136 Sliding Nut Plate, Side Handle 21.30$           

3200842 80071502 Mirror Motor Bracket, Primary 37.90$           

3200846 29144022 Effects Wheel Glass Art, "Slow" 8.60$             

3200855 80290006 Technobeam Iris Assembly 199.00$         

3200856 80250003 Technobeam Igniter 30.00$           

3200863 29060003 Technobeam Wide Angle Lens Kit 574.60$         

34014A00 34014A Caster, Double Wheel (Plastic) 15.00$           

37128000 37128 Lamphouse Mounting Spacer 56.70$           

37969000 37969 Anode Support Collet 170.40$         

37985000 37985 Thumb Screw, Bulb Adjust Assembly 44.60$           

39110000 39110 High Voltage Capacitor 64.60$           

39112000 Capacitor Mount 14.10$           

39122000 39122 Igniter Access Plate 17.00$           

39135000 Bulb Support 46.90$           

39139000 39139 Magnetic Door Catch 12.70$           

39150000 39150 Insulator Strip, Anode Support Block 11.20$           

39153000 39153 Terminal Board Insulator 15.60$           

39154000 39154 Igniter PC Board Relay, 12VDC Coil 24.70$           

39155000 39155 Nylon PCB Support, Threaded 3.00$             

39163000 39163 Zener Diode, 1N5374A 6.80$             

39173000 Bracket 58.60$           

39188000 39188 Actuator Flag, Air Flow Switch 4.60$             

39191000 24269 Contact Clamp, 8mm Cathode Pin 33.80$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 6 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

39191000 39191 Contact Clamp, 8mm Cathode Pin 33.80$           

39201000 39106 Spark Gap Body 85.30$           

39201000 39201 Spark Gap Body 85.30$           

39210000 39147 Douser Cross Shaft 143.50$         

39210000 39210 Douser Cross Shaft 143.50$         

39215000 39215 Arc Stabilization Magnet (1 - 2kW) 32.10$           

39260000 39260 Door Interlock Switch 22.30$           

39322000 Bracket Assy Switch Lamp Left 50.70$           

39862000 39865 DC Pulse Igniter 775.30$         

39862000 39862 DC Pulse Igniter 775.30$         

39862000 39863 DC Pulse Igniter 775.30$         

39862000R DC Pulse Igniter (Reconditioned) 775.30$         

39871000 39871 Electric Douser Kit, Super Lume-X (Field Install) 1,302.70$     

39876000 39876 Flanged Reflector & Adapter Kit 1,642.80$     

39879000 39879 Wiring Kit, IREM PS to Super Lume-X Lamphouse 274.90$         

39896000 Lamphouse/Power Supply Cable Assembly 543.70$         

39919000 39919 Nose Cone, 3-1/2 Long 63.10$           

39920000 39920 Elapsed Hour Meter Assembly, 60 Hz 129.50$         

39922000 39922 Wire Harness Assembly, Standard Super Lume-X 403.60$         

39922000 39986 Lamphouse Wire Harness (Motion Picture) 403.60$         

39923000 39923 Spark Gap Assembly 177.70$         

39932000 39932 Nose Cone Assembly, 1-3/4 Long 71.10$           

39933000 39933 RF Suppressor Assembly 38.70$           

39934000 Support Block Assembly 110.10$         

39937000 39937 High Voltage Transformer 865.30$         

39938000 39938 Blower Assembly, 115VAC 221.90$         

39949A00 39949A Igniter Assembly, Gladiator II & III 1,786.60$     

39952000 39952 Bulb Support Collet, Gladiator II 132.10$         

39953000 39953 Negative Lead & Contact Assembly, Gladiator II 78.60$           

39955000 39955 Air Flow Switch Assembly 29.20$           

39956000 39956 Capacitor Assembly, RF Suppression 31.60$           

39966000 39966 Igniter PC Board Assembly 154.70$         

39966000 71952 Igniter PC Board Assembly 154.70$         

39968000 39968 Lamphouse/Power Supply Cable, Super Lume-X 381.70$         

39970000 39970 VOLTAGE Switch, Pushbutton 100.70$         

39975000 39975 Bulb Support Yoke 52.80$           

39976000 39976 Elapsed Time Meter Assembly, 60 Hz 143.40$         

39978000 39978 Reflector & Flange Potted Assembly, 11 1,722.20$     

399780RH Reflector 11 Assy Rodium 1,513.90$     

39981000 39981 Igniter PC Board, 100V No Load 182.20$         

39983000 39983 Positive Lead Wire Assembly 26.90$           

39984000 39984 Positive Lead & Contact Assembly 64.40$           

39994000 39994 Top Cover & Door Welded Assembly 246.70$         

39999A00 39999A Igniter Assembly 1,780.80$     Super Lume-X, Super 80, Ultra 80

40107000 40107 Air Duct/Bulb Support Casting 78.30$           

40115000 40115 Douser Shaft 68.60$           

40116000 40116 Air Duct Insulator 24.40$           

40119000 40119 Cover Plate, Bulb Adjust Mechanism (less Fasteners) 21.60$           

40130000 40130 Phenolic Block, Binding Post 27.40$           

40131000 40131 Insulator Strip, Binding Post 13.20$           

40191000 40191 Ammeter, 0-200A, 50 mV 164.70$         

40194000 40194 Cover, Top Blower 41.40$           

4020120 4151271 Screw, 2-56 x 1/8 Pan Head, Stnl. Steel 2.00$             

4020180 4151002 Screw, 2-56 x 3/16 Pan Head, Stnl. Steel 2.00$             

4020250 4151004 Screw, 2-56 x 1/4 Pan Head, Stnl. Steel 2.00$             

4020253 4151364 Screw, 2-56 x 1/4 Socket Head, Stnl. Steel 2.00$             

4020310 4151319 Screw, 2-56 x 5/16 Socket Head, Stnl. Steel 2.00$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 7 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

4020750 4151467 Screw, 2-56 x 3/4 Pan Head, Stnl. Steel 2.00$             

40220000 40220 Squirrelcage Blower, 220VAC, 50/60 Hz 264.90$         

4027000 Split Lockwasher, #2 Nom. Stnl. Steel 2.00$             

40293000 40293 Anode Adapter, 2.5 or 3kW HS Bulb 97.10$           

4030180 4151385 Screw, 3-48 x 3/16 Pan Head, Stnl. Steel 2.00$             

4040120 4151013 Screw, 4-40 x 1/8 Pan Head, Stnl. Steel 2.00$             

4040121 4151526 Screw, 4-40 x 1/8 Socket Head, Stnl. Steel 2.00$             

4040122 Set Screw, 4-40 x 1/8 Knurled Cup Point, Blk Oxide 2.00$             

4040180 Screw, 4-40 x 3/16 Pan Head, Stnl. Steel, SEMS 2.00$             

4040184 41510144 Screw, 4-40 x 3/16 Slotted Bind Head, Brass 2.00$             

4040250 1515000 Screw, 4-40 x 1/4 Pan Head, Stnl. Steel, SEMS 2.00$             

4040251 4151012 Screw, 4-40 x 1/4 Button Head, Stnl. Steel 2.00$             

4040252 41510174 Screw, 4-40 x 1/4 Socket Head, Stnl. Steel 2.00$             

4040256 Screw, 4-40 x 1/4 Button Head, Zinc Plated 2.00$             

4040310 4151457 Screw, 4-40 x 5/16 Pan Head, Stnl. Steel, SEMS 2.00$             

4040372 Screw, 4-40 x 3/8 Button Head 2.00$             

4040373 Screw, 4-40 x 3/8 Socket Head 2.00$             

4040374 Screw, 4-40 x 3/8 Slotted Flat Head, Stnl. Steel 2.00$             

4040375 4151020 Screw, 4-40 x 3/8 Truss Head, Stnl. Steel 2.00$             

4040500 953000 Screw, 4-40 x 1/2 Pan Head, Stnl. Steel, SEMS 2.00$             

4040620 41510224 Screw, 4-40 x 5/8 Pan Head, Stnl. Steel, SEMS 2.00$             

4040751 4151346 Screw, 4-40 x 3/4 Socket Head, Stnl. Steel 2.00$             

4041370 90707052 Screw, 4-40 x 1-3/8" Socket Head 2.00$             

4042001 90707009 Screw, 4-40 x 2" Socket Head 2.00$             

4047001 Internal Tooth Lockwasher, #4 Nom. Stnl. Steel 2.00$             

4047002 90706032 Flatwasher, #4, 0315 O.D. 2.00$             

4047101 Flatwasher, 1/4 OD x 1/32 Thk., Stnl. Steel 2.00$             

4050501 4151282 Screw, 5-40 x 1/2 Socket Head, Stnl. Steel 2.00$             

4057000 Split Lockwasher, #5 Nom. Stnl. Steel 2.00$             

4060180 41510304 Screw, 6-32 x 3/16 Pan Head, Stnl. Steel, SEMS 2.00$             

4060182 Set Screw, 6-32 x 3/16 Knurled Cup Point, Blk Oxide 2.00$             

4060250 Screw, 6-32 x 1/4 Pan Head, Stnl. Steel, SEMS 2.00$             

4060252 Screw, 6-32 x 1/4 Slotted Flat Head, Stnl. Steel 2.00$             

4060253 179000 Screw, 6-32 x 1/4 Socket Head, Stnl. Steel 2.00$             

4060254 Screw, 6-32 x 1/4 Truss Head, Stnl. Steel 2.00$             

4060255 Set Screw, 6-32 x 1/4 Square Head, Cup Point 2.00$             

4060256 Set Screw, 6-32 x 1/4 Knurled Cup Point, Blk Oxide 2.00$             

4060370 Screw, 6-32 x 3/8 Pan Head, Stnl. Steel, SEMS 2.00$             

4060372 41513144 Screw, 6-32 x 3/8 Socket Head, Stnl. Steel 2.00$             

4060375 165000 Screw, 6-32 x 3/8 Flat Socket Head, Stnl. Steel 2.00$             

406037E 90709016 Tap Screw, #6 x 3/8" Pan Head 2.00$             

4060430 4151496 Screw, 6-32 x 7/16 Flat Socket Head, Stnl. Steel 2.00$             

4060502 182000 Screw, 6-32 x 1/2 Socket Head, Stnl. Steel 2.00$             

4060620 Screw, 6-32 x 5/8 Pan Head, Stnl. Steel, SEMS 2.00$             

4067001 Internal Tooth Lockwasher, #6 Nom. Stnl. Steel 2.00$             

4067101 1553000 Flatwasher,#6 Nom. x 3/8 OD (SAE), Stnl. Steel 2.00$             

4068001 1723000 Hednut, 6-32 Stnl. Steel 2.00$             

4068002 Hexnut, 6-32 Stnl. Steel NyLoc 2.00$             

4068008 4135061 Acorn Nut, 6-32 Stnl. Steel 2.00$             

4080120 Set Screw, 8-32 x 1/8 Knurled Cup Point, Blk Oxide 2.00$             

4080180 41513184 Screw, 8-32 x 3/16 Socket Head, Stnl. Steel 2.00$             

4080250 Screw, 8-32 x 1/4 Pan Head, Stnl. Steel, SEMS 2.00$             

4080252 254000 Screw, 8-32 x 1/4 Socket Head, Stnl. Steel 2.00$             

4080253 4151361 Screw, 8-32 x 1/4 Button Head, Stnl. Steel 2.00$             

4080259 Set Screw, 8-32 x 1/4 Knurled Cup Point, Blk Oxide 2.00$             

408025D Screw, 8-32 x 1/4 Pan Head, Stnl. Steel 2.00$             216000

4080310 217000 Screw, 8-32 x 5/16 Pan Head, Stnl. Steel, SEMS 2.00$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 8 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

4080311 255000 Screw, 8-32 x 5/16 Socket Head, Stnl. Steel 2.00$             

4080316 Set Screw, 8-32 x 5/16 Knurled Cup Point, Blk Oxide 2.00$             

4080373 Screw, 8-32 x 3/8 Flat Socket Head, Stnl. Steel 2.00$             

4080374 41513244 Screw, 8-32 x 3/8 Socket Head, Stnl. Steel 2.00$             

4080375 Scrwe, 8-32 x 3/8 Pan Head, Stnl. Steel, SEMS 2.00$             

4080376 Screw, 8-32 x 3/8 Truss Head, Stnl. Steel 2.00$             

408037A Set Screw, 8-32 x 3/8 Cup Point, Locking, Blk Oxide 3.60$             

408037C Set Screw, 8-32 x 3/8 Knurled Cup Point, Blk Oxide 2.00$             

408037D Screw, 8-32 x 3/8 Fillister Head, Stnl. Steel 2.00$             256000

4080502 Screw, 8-32 x 1/2 Socket Head, Stnl. Steel 2.00$             

4080506 4151073 Screw, 8-32 x 1/2 Pan Head, Stnl. Steel, SEMS 2.00$             

4080507 4151068 Screw, 8-32 x 1/2 Truss Head, Stnl. Steel 2.00$             

4080623 41513014 Screw, 8-32 x 5/8 Socket Head, Stnl. Steel 2.00$             

4080624 Screw, 8-32 x 5/8 Pan Head, Stnl. Steel, SEMS 2.00$             

4080627 259000 Screw, 8-32 x 5/8 Slotted Fillister Head, Stnl. Steel 2.00$             

4080750 41512014 Screw, 8-32 x 3/4 Socket Head, Stnl. Steel 2.00$             

4080755 Screw, 8-32 x 3/4 Socket Head, Black Oxide 2.00$             

4080870 1532000 Screw, 8-32 x 7/8 Socket Head, Stnl. Steel 2.00$             

4081000 Machine Screw, 8-32 x 1 Socket Head, Stnl. Steel 2.00$             

4081002 Screw, 8-32 x 1 Pan Head, Stnl. Steel, SEMS 2.00$             

4081003 90707039 Screw, 8-32 x 1" Socket Head 2.10$             

4081251 Screw, 8-32 x 1-1/4 Socket Head, Stnl. Steel 2.00$             

4087004 Internal Tooth Lockwasher, #8 Nom. Stnl. Steel 2.00$             

4087005 90706009 Flatwasher, #8, .375" O.D. 2.00$             

4087101 41700024 Flatwasher, #8 Nom. x 7/16 OD (SAE), Stnl. Steel 2.00$             

4087102 4170043 Flatwasher, #8 Nom. x 5/16 OD, Stnl. Steel 2.00$             

4088001 Jam Nut, 8-32 Hex Stnl. Steel 2.00$             

40902000 40902 Lamphouse/Power Supply Cable Assembly 505.00$         10kW Ultra 80

40904000 40904 Lamphouse/Power Supply Cable Assembly 590.90$         Gladiator III

40905000 40905 Blower Assembly, 220VAC, Gladiator III 282.80$         

40913000 40913 Igniter Control PC Board Assembly 151.50$         

40913000 71951 Igniter Control PC Board Assembly 151.50$         

40913000 31973 Igniter Control PC Board Assembly 151.50$         

40920000 40920 Frame & Grille Assembly, Top Blower Cover 64.30$           

40922000 81280 Ammeter & Shunt Kit 308.30$         

40922000 81537 Ammeter & Shunt Kit 308.30$         

40922000 40922 Ammeter & Shunt Kit 308.30$         

40923000 40923 200A, Meter with Leads 178.10$         

40929000 Cathode Support Assembly, 3000W 139.80$         

40930000 40930 Cathode Collet, 8mm Socket 107.10$         

40936000 40936 Air Vane Switch Assembly 78.80$           

40944000 40944 Positive Lead Assembly 88.80$           

40963000 71930 Hour Meter, 120VAC, 50 Hz 184.20$         

40963000 40963 Hour Meter, 120VAC, 50 Hz 184.20$         

40965000 40965 Contact Clamp, 8mm (.312) Cathode Pin 50.70$           

40966000 40966 Contact Clamp, 14mm (.551) Cathode Pin 68.60$           

40971000 40971 Elapsed Time Meter, 120VAC, 60 Hz 126.10$         

40980000 40980 Igniter Lead & 40966000 Clamp Assembly 84.40$           

40981000 40981 Wire Assembly, Shunt to TB 44.10$           

40982000 40982 Blower Assembly, 115VAC, 50/60 Hz 272.30$         

40984000 40984 Igniter PC Board, 85VDC No Load 170.50$         

40987000 40987 Binding Post Assembly, DC to Bulb Lead 37.70$           

40997000 40997 Cathode Collet, 14mm Socket 121.00$         

40999000 40999 Bulb Support Yoke 48.40$           

4100120 Set Screw, 10-32 x 1/8 Knurled Cup Point, Blk Oxide 2.00$             

4100180 Set Screw, 10-32 x 3/16 Knurled Cup Point 2.00$             

4100251 343000 Screw, 10-32 x 1/4 Flat Head, Stnl. Steel 2.00$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 9 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

4100252 Set Screw, 10-32 x 1/4 Knurled Cup Point, Blk Oxide 2.00$             

4100370 4151206 Screw, 10-32 x 3/8 Button Head, Stnl. Steel 2.00$             

4100371 Screw, 10-32 x 3/8 Pan Head, Stnl. Steel,  SEMS 2.00$             

4100372 Screw, 10-32 x 3/8 Slotted Flat Head, Stnl. Steel 2.00$             

4100374 41510944 Screw, 10-32 x 3/8 Socket Head, Stnl. Steel 2.00$             

4100379 Set Screw, 10-32 x 3/8 Knurled Point, Black Oxide 2.00$             

4100500 384000 Screw, 10-32 x 1/2 Socket Head, Stnl. Steel 2.00$             

4100501 Screw, 10-32 x 1/2 Truss Head, Stnl. Steel 2.00$             

4100502 1736000 Tamperproof Screw, 10-32 x 1/2 Holt Head 2.00$             

4100503 Screw, 10-32 x 1/2 Type F Self-Tapping, Pan Head 2.00$             

4100504 4151274 Screw, 10-32 x 1/2 Button Head, Stnl. Steel 2.00$             

4100506 351000 Screw, 10-32 x 1/2 Flat Head, Stnl. Steel 2.00$             

410050B Screw, 10-32 x 1/2 Pan Head, Stnl. Steel, SEMS 2.00$             41511024

4100620 4151209 Screw, 10-32 x 5/8 Socket Head, Stnl. Steel 2.00$             

4100626 Set Screw, 10-32 x 5/8 Knurled Cup Point, Blk Oxide 2.00$             

4100629 4151994 Screw, 10-32 x 5/8 Button Head, Stnl. Steel 2.00$             

4100750 Screw, 10-32 x 3/4 Socket Head, Stnl. Steel 2.00$             

4100751 320000 Screw, 10-32 x 3/4 Pan Head, Stnl. Steel 2.00$             

4100752 4151031 Screw, 10-32 x 3/4 Button Head, Stnl. Steel 2.00$             

4100870 4151107 Screw, 10-32 x 7/8 Socket Head, Stnl. Steel 2.00$             

4101000 Machine Screw, 10-32 x 1 Socket Head, Stnl. Steel 2.00$             

4101002 4151547 Screw, 10-32 x 1 Flat Head, Stnl. Steel 2.00$             

4101004 4151099 Screw, 10-32 x 1 Pan Head, Stnl. Steel 2.00$             

4101250 4151109 Screw, 10-32 x 1-1/4 Socket Head, Stnl. Steel 2.00$             

4103001 90707074 Tap Scrw, 10-32 x 3" Socket Head 2.00$             

4107000 875000 Split Lockwasher, #10 Nom. Stnl. Steel 2.00$             

4107001 885000 Internal Tooth Lockwasher, #10 Nom. Stnl. Steel 2.00$             

4107100 Flatwasher, #10 Nom. x 7/16 OD  .036 Thk. Brass 2.00$             

4107101 1715000 Flatwasher, #10 Nom. x 1/2 OD (SAE), Stnl. Steel 2.00$             

4108001 Hexnut, 10-32 Stnl. Steel 2.00$             

4108002 Hexnut, 10-32 Stnl. Steel  (ESNA) 2.00$             

4108007 4135119 Hexnut, 10-32 Stnl. Steel K-Lock 2.00$             

4108021 Tinnerman Nut (Panel Speed Nut), 10-32 Steel 2.00$             

4108025 1507 Tinnerman (Clip-On) Nut, #10 2.00$             

4110180 Set Screw, 10-24 x 3/16 Knurled Cup Point 2.00$             

4110311 1566000 Screw, 10-24 x 5/16 Pan Head, Stnl. Steel 2.00$             

4110371 381000 Screw, 10-24 x 3/8 Socket Head, Stnl. Steel 2.00$             

4110500 385000 Screw, 10-24 x 1/2 Socket Head, Stnl. Steel 2.00$             

4110502 1695000 Screw, 10-24 x 1/2 Wing Head, Stnl. Steel 2.00$             

4110621 1716000 Screw, 10-24 x 5/8 Pan Head, Stnl. Steel, SEMS 2.00$             

4110750 389000 Screw, 10-24 x 3/4 Socket Head, Stnl. Steel 2.00$             

41248000 41248 Chopper Slide Rod 54.20$           

41255000 41255 Upper Bulb Retainer 101.50$         

41257000 41257 Bulb Contact 26.20$           

41276000 41276 Spacer Bar, Optical System 26.90$           

41278000 41278 Upper Chopper Blade Assembly 53.80$           

41279000 41279 Lower Chopper Blade Assembly 47.40$           

4128002 4135010 Hexnut, 12-24 Stnl. Steel NyLoc 2.00$             

41300000 41300 Reflector, Truss Trouper 103.00$         

41302000 41302 Lens, 5 Dia., 6 F.L. 153.00$         

41305000 41305 Lens, 8 Diamter, 26 F.L. 697.50$         

41330000 41330 Captive Screw, Spring-Ejected 20.00$           

4135009 Stop Nut, 8-32 2.00$             

4137001 Taper Pin, 3-0 x 1-1/4 2.00$             

4151125 90705026 Thumbscrew, M3 x 20mm 2.00$             

4151530 Shoulder Screw, 1/4 x  3/8   10-24 2.00$             

4156011 90702036 Stand-Off, 3/16" x 3/4" Thrd. 4-40 2.00$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 10 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

4170038 Shim Washer, 5/16 ID x 9/16 OD x .005 Thk. 2.00$             

41958000 41958 Focus Ribbon Assembly 38.60$           

4198021 Cotter Pin, 1/16 dia. x 3/8 2.00$             

4198138 90702024 Spacer, 1/4" Dia. X 3/4" 2.10$             

4250180 Set Screw, 1/4-20 x 3/16 Knurled Cup Point 2.00$             

4250250 1760000 Screw, 1/4-20 x 1/4 Button Head Nylon 2.00$             

4250251 Set Screw, 1/4-20 x 1/4 Knurled Cup Point, Blk Oxide 2.00$             

4250370 4151493 Screw, 1/4-20 x 3/8 Button Head, Stnl. Steel 2.00$             

4250373 685000 Screw, 1/4-20 x 3/8 Hex Head, Stnl. Steel 2.00$             

4250375 Set Screw, 1/4-20 x 3/8 Knurled Cup Point, Blk Oxide 2.00$             

4250376 Set Screw, 1/4-20 x 3/8 Cone Point, Black Oxide 2.00$             

4250377 Set Screw, 1/4-20 x 3/8 Full Dog Point, Black Oxide 2.00$             

4250503 41513384 Screw, 1/4-20 x 1/2 Hex Head, Stnl. Steel 2.00$             

4250505 1432000 Screw, 1/4-20 x 1/2 Socket Head, Stnl. Steel 2.00$             

4250507 1761000 Screw, 1/4-20 x 1/2 Hex Head Nylon 2.00$             

4250508 541 Screw, 1/4-20 x 1/2" Pan Head 2.00$             

4250623 41511214 Screw, 1/4-20 x 5/8 Hex Head, Stnl. Steel 2.00$             

4250750 492000 Screw, 1/4-20 x 3/4 Flat Socket Head, Stnl. Steel 2.00$             

4250752 4151122 Screw, 1/4-20 x 3/4 Hex Head, Stnl. Steel 2.00$             

4251001 Screw, 1/4-20 x 1 Hex Head, Nylon 2.00$             

4251002 Screw, 1/4-20 x 1 Socket Head, Stnl. Steel 2.00$             

4251003 695000 Screw, 1/4-20 x 1 Hex Head, Stnl. Steel 2.00$             

4251250 Screw, 1/4-20 x 1-1/4 Socket Hd, Stnl. Steel 2.00$             

4251252 4151128 Screw, 1/4-20 x 1-1/4 Hex Head, Stnl. Steel 2.00$             

4251501 Screw, 1/4-20 x 1-1/2 Socket Hd, Stnl. Steel 2.00$             

4251751 701000 Screw, 1/4-20 x 1-3/4 Hex Head, Stnl. Steel 2.00$             

4252002 Set Screw, 1/4-20 x 2 Knurled Cup Point, Blk Oxide 2.00$             

4252500 4151227 Screw, 1/4-20 x 2-1/2 Socket Head, Stnl. Steel 2.00$             

4257000 Split Lockwasher, 1/4 Nom. Stnl. Steel 2.00$             

4257001 889000 Internal Tooth Lockwasher, 1/4 Nom. Stnl. Steel 2.00$             

4257100 835000 Washer, 1/4 2.00$             

4257102 852000 Flatwasher, 1/4 Nom. x 5/8 OD (SAE), Stnl. Steel 2.00$             

4258001 805000 Hexnut, 1/4-20 Stnl. Steel 2.00$             

4258002 41350604 Hexnut, 1/4-20 Stnl. Steel, NyLoc 2.00$             

4258015 1754000 Hexnut, 1/4-20 Nylon 2.00$             

4261000 Screw, 1/4-28 x 1 Socket Head, Stnl. Steel 2.00$             

4268001 Hexnut, 1/4-28 Stnl. Steel 2.00$             

4310500 1346000 Screw, 5/16-18 x 1/2 Hex Head, Stnl. Steel 2.00$             

4310750 1796 5/16-18 X 3/4 Nylon Hex Head 2.00$             

4310753 1525 Wing Screw, 5/16-18 x 3/4 2.00$             

4311002 Screw, 5/16-18 x 1 Hex Head, Stnl. Steel 2.00$             

4311250 Screw, 5/16-18 x 1-1/4 Socket Head, Stnl. Steel 2.00$             

4317001 Internal Tooth Lockwasher, 5/16 Nom. Stnl. Steel 2.00$             

4317101 Shim Washer, 5/16 Nom. x 9/16 OD x .002 Thk. 2.00$             

4318001 807000 Hexnut, 5/16-18 Stnl. Steel 2.00$             

4320371 90707028 Screw, 5-16-24 x 5/8" Socket Head 2.00$             

4320750 41514294 Screw, 5/16-24 x 3/4 Button Head, Stnl. Steel 2.00$             

4328002 Hexnut, 5/16-24 ESNA, Stnl. Steel 2.00$             

4370753 Thumbscrew, 3/8-16 x 3/4 Steel, Zinc Plated 2.00$             

4372500 1523000 Screw, 3/8-16 x 2-1/2 Square Head, Zinc Plated 2.00$             

4373000 1747 Screw, 3/8-16 x 3" Hex Head 2.00$             

4377001 Split Lockwasher, 3/8 Nom. Zinc Plated 2.00$             

4377100 839000 Flatwasher, 3/8 Nom. x 7/8 OD, Brass 2.00$             

4377103 4170007 Flatwasher, 3/8 Nom. x 1 OD (SAE) 2.00$             

4377104 Flatwasher 3/8 Nom. x 3/4 OD, Zinc Plated 2.00$             

4378002 Hexnut,  3/8-16 Steel, NyLock 2.00$             

4378006 1678000 Jam Nut, 3/8-16 Hex Brass 2.00$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 11 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

4388006 4135054 Jam Nut, 3/8-24 Hex Steel 2.00$             

44239A00 44239A Projection Lens, Xenon Spotlight (Used) 595.00$         as available

44239C00 44239C Projection Lens, Xenon Spotlight 995.00$         

4507106 51156 Friction Washer 2.00$             

45122000 45122 Color Disc Frame 12.30$           

45150A00 45150A Handle Grip, Red Vinyl 3.20$             

45151000 45151 Friction Washer 12.20$           

45151000 41133 Friction Washer 12.20$           

45160000 45160 Clamping Lug 17.80$           

45208000 45208 Threaded Shaft, Focus Adjust 42.00$           

45209000 45209 E Ring, Focus Shaft Retaining 4.90$             

45224000 45224 Lens Focusing Stud 37.40$           

45237000 45237 Roman Numeral II Insignia 21.50$           

45247000 45247 Socket, 120/240V, FEL/FEP 31.40$           

45252000 45252 Small Lens 130.00$         

45331000 Single Pole Toggle Switch, 10 A, 120 V 17.50$           

45916000 45916 Trouperette Aperture & Iris Assembly 1,058.30$     

45987000 45158 Tube & Yoke, Welded Assembly 180.40$         

46138000 Retaining Ring 2.00$             

46150000 46150 Clip, Gel Frame 3.00$             

46994000 45989 Vent Stack, Welded Assembly 105.10$         

46994000 46994 Vent Stack, Welded Assembly 105.10$         

47168000 47168 GLADIATOR Insignia 15.10$           

47191000 47191 Blade 14.50$           

47191000 47981 Blade 14.50$           

47191000 51968 Blade 14.50$           

47191000 47980 Blade 14.50$           

47191000 47979 Blade 14.50$           

47191000 51969 Blade 14.50$           

47191000 47978 Blade 14.50$           

47210000 47210 Idler Pulley 28.60$           

47210000 83303 Pulley 28.60$           

47233000 47233 Gelatin Heat Shield, 5-1/4 Dia. 14.90$           

47944000 47944 Lens Blower & Leads, 115VAC 403.90$         

47958000 47958 Saddle & Quadrant Assembly 196.50$         

47962000 47962 Rubber Light Baffle, Optical System Housing 40.50$           

47982000 47982 Slide Assembly, Chopper Blade 28.70$           

48103000 48103 Plastic Knob, Focus Adjust 10.80$           

48372000 48372 Cover Plate, Beam Shape Controls 27.90$           

48395000 48395 Height Adjust Pin, 3/8 Dia. 11.60$           

48402000 48402 Iris Handle 70.00$           

48878000 48878 Lower Blade Assembly 169.00$         

48879000 48879 Upper Blade Assembly 120.50$         

48930000 48930 Arc Viewing Port, Frame & Glass Assembly 41.10$           

49120000 49120 Tilt Axis Bolt 34.50$           

49121000 49121 Tilt Axis Washer 74.90$           

49125000 49125 Clamp Spring 6.80$             

49129000 49129 Clamp Shaft 70.50$           

49130000 Handle Trunion Clamp 29.50$           

49179000 49179 Swivel Clamp Nut 47.50$           

49208000 49208 Caster, Socket Mount 26.80$           

49213000 49213 Swivel Clamp Collar 209.30$         

49223000 49223 Trunnion Clamp Shaft 67.70$           

49226000 49143 Leveling Foot 10.30$           

49226000 49226 Leveling Foot 10.30$           

49290000 49214 Swivel Clamp Nut 54.80$           

49290000 49290 Swivel Clamp Nut 54.80$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 12 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

49291000 49291 Lamp Swivel Stop 11.70$           

49342000 49342 Hand Rail 63.40$           

49342000 49240 Hand Rail 63.40$           

49943000 49943 Lifting Strap 34.70$           

51101000 51101 Small Lens, 2 Dia. 250.50$         

51133000 51133 Lens Focus Adjusting Block 54.30$           

51153000 51153 Chopper Blade Spacer Bushing 15.20$           

51155000 51450 Handle 38.70$           

51155000 51155 Handle 38.70$           

51158000 51158 Small Pulley 21.60$           

51160000 51160 Pulley Stud 26.70$           

51162000 51162 Tension Spring, Focus Ribbon 7.40$             

51166000 51166 Knurled Head Thumb Screw, Threaded 8-32 25.20$           

51168000 51168 Focus Adjust Knob 35.60$           

51192000 51192 Ultraviolet Filter Lens 224.40$         

51196000 51196 Hinge Pin, Boomerang 20.80$           

51226000 51226 Pivot Stud, Control Lever 81.60$           

51229000 51229 Friction Pad, Iris 16.60$           

51371000 51371 Light Baffle, 1/32" x 1-1/2" Rubber 5.90$             

51376000 51376 Cover Plate for 51928000 Color Frame 14.00$           

51441000 51441 Handle Shaft, Large Lens Carriage 49.00$           

51451000 51451 Iris Shaft Handle 57.60$           

51452000 51452 Control Lever, Chopper Blades 46.20$           

51453000 51453 Slide Rod, Lens Mechanism 145.20$         

51454000 51454 Focus Adjust Screw 89.10$           

51459000 51459 SUPER TROUPER Insignia 12.90$           

51465000 51465 Torsion Spring, Color Arm 7.70$             

51479000 51479 Rubber Bumper Washer, Slide Rods 3.80$             

51489000 51489 Focus Adjust Screw 64.50$           

51497000 51497 Lower (Long) Pull Rod, Chopper Blade 20.50$           

51498000 51498 Upper (Short) Pull Rod, Chopper Blade 17.50$           

51505000 51505 Rubber Pad, Rocker Catch (Long) 7.40$             

51509000 51509 Handle 18.70$           

51509000 90269 Handle 18.70$           

51509000 51486 Handle 18.70$           

51523000 51523 Srping Retaining Stud, Thrd. 8-32 20.20$           

51530000 51530 Boomerang Support Yoke 31.60$           

51556000 51556 Pad, Disk Brake 18.60$           

51591000 51591 Color Disc Housing Latch 40.80$           

51602000 51516 Pull Rod, Long 31.90$           

51602000 51602 Pull Rod, Long 31.90$           

51632000 51632 Pivot Washer 9.60$             

51638000 51638 Iris, 2-7/8 O.D. 174.80$         

5171010 Lamp Interconnect Cable, 4/2, 16/8, Black Jacket 29.30$           

51845000 51845 Rocker Catch Assembly 126.60$         

51910000 51910 Focus Adjust Ribbon, Super Trouper & Gladiator 42.20$           

51926000 51926 Slide Channel, Ultraviolet Filter 48.70$           

51928000 51928 Color Frame & Slide Channel, Welded Assembly 19.00$           

51932000 51932 Color Arm Assembly, 5-3/16 67.10$           

51933000 51933 Color Arm Assembly, 4-11/16 67.10$           

51934000 51934 Color Arm Assembly, 4-3/16 69.00$           

51978000 51978 Friction Spring & Button (for 4-5/8 Dia. Iris) 20.70$           

51979000 51979 Iris Assembly, 4-5/8 O.D. 334.30$         

5198423 5198423 Spring Latch, Slotted Head 14.60$           

5198438 5198438 Reader Lens Mount Block, Apogee 225.00$         Component Engineering

5198466 39313-E1 Front Panel Assembly, CNA-100 1,989.20$     

51992000 51992 Focus Ribbon Assembly; Trouper, Trouperette 32.90$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 13 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

51992000 51891 Focus Adjusting Ribbon 32.90$           

57275000 Plug Button 4.30$             

61101000 Rectipoint 347.70$         

61118000 61118 Buss Bar, Rectifier to Blocking Diode 18.80$           

61140000 61140 Reverse Diode, 85A, 600 PRV 24.10$           

6121001 Fuse, 16A, 600V, Switching Power Supply 28.50$           

6145001 Contactor, 120VAC Coil, 4 Pole, Switching P/S 385.80$         

6161001 Circuit Breaker, 30A, 3 Pole, Switching Power Supply 147.40$         

6161002 Circuit Breaker, 3A, 1 Pole Switching Power Supply 23.60$           

6161007 Thermal Switch 15.00$           

61902000 Capacitor Assembly, RF Bypass 21.60$           

61932000 RF Capacitor for Rectipoint 18.70$           

61933000 RF Capacitor for Rectipoint 16.20$           

61976000 61976 Bridge Rectifier 457.10$         

61976000 61101 Bridge Rectifier 457.10$         

6198002 88230 Fan, 115VAC, 50/60 Hz, 4 47.40$           

6198002 45227 Fan, 115VAC, 50/60 Hz, 4 47.40$           

6198002 61966 Fan, 115VAC, 50/60 Hz, 4 47.40$           

61984000 88120A Stepdown Transformer, 208/230 to 115V 204.40$         

61984000 61984 Stepdown Transformer, 208/230 to 115V 204.40$         

62151000 Clamp Cable MS-3057-1020 36.80$           

62152000 Boot, 9779-513-20 7.20$             

6270003 6270001 MS Connector, Wired Assembly 214.00$         for Switching Power Supply

6270007 9823 Power Supply MS Connector AMC 253.40$         

65114000 65114 Reflector Bulkhead Casting 247.20$         

65115000 65115 Air Duct & Bulb Support Casting 118.30$         

65116000 65116 Bulb Adjustment Casting 74.40$           

65117000 65117 Bulb Support Yoke Casting 122.50$         

65122A00 65122A Strip Heat Filter, Dichroic Coated Glass 209.50$         

65131000 Clamp for 2 kW Bulb, 12mm 42.50$           

65140000 65140 Cover Plate, Bulb Adjust Mechanism (less Fasteners) 19.30$           

65142000 65142 Ammeter, 0 - 150As 183.20$         

65148000 65148 Anode Contact Clamp 29.50$           

65149A00 65149A Screwdriver, Holt Head (Tamperproof) 59.90$           

65150000 65150 Fender Washer 4.40$             

65151000 65151 Retaining Plate, Anode Adapter 15.90$           

65152A00 65152A Thumb Screw, Retaining Plate 30.90$           

65153000 65153 Knurled Screw, Bulb Focus Lock 7.90$             

65154000 65154 Nylon Ball, 3/16 Dia. 3.00$             

65166000 65166 Plunger, Black Plastic 3.90$             

65167000 65167 Grommet, Black Plastic 4.20$             

65169000 65169 Cathode Adapter, Threaded 5/16-18 39.70$           

65171000 65171 Shoulder Bushing 27.40$           

65175000 65175 Insulator Plate, Air Duct Casting 11.80$           

65185000 Bracket 11.70$           

65197000 65197 Spacer Washer 3.00$             

65198000 65198 Cathode Adapter, 1000 & 1600W, Spotlight 80.00$           

65199000 65199 Anode Adapter, 1000 & 1600W, Spotlight 96.20$           

65204000 65204 Capacitor, 3 µf, 400V 31.70$           

65216000 65216 Igniter Discharge Capacitor 364.90$         

65224000 65224 Neon Glow Lamp 4.30$             

65225000 65225 Silicon Controlled Rectifier (SCR) 5.30$             

65227000 65227 Resistor, 400 Ohm, 5W 7.40$             

65233000 65233 Isolation Transformer 68.50$           

65265000 Contact Cathode 32.50$           

65314000 Blower 159.10$         

65343000 65343 Anode Adapter Clamp (less Hardware) 36.40$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 14 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

65344000 65170 Order 65344 Adapter & 65869 Clamp 40.10$           

65344000 65344 Anode Adapter; 700, 1000, 1600W HS 40.10$           

65344000 65345 Order 65344 Adapter 40.10$           

65348000 65348 Trim Potentiometer 10.50$           

65392000 65392 Spark Gap Holder 19.50$           

65400000 65400 Anode Contact Clamp, 2 & 2.5kW, Type HS 54.00$           

65410000 65410 Cathode Contact Clamp, 2kW 42.40$           

65431000 65431 Inner Tube Retaining Collar 81.50$           

65435000 Reflector Adapter 11 174.10$         

65503000 65503 DC Pulse Igniter, Super Trouper II 712.30$         

65819000 65819 Lamphouse Exhaust Blower Assembly 547.10$         Xenon Super Trouper

65823000 65823 Saddle Assembly, Folding Base 381.60$         

65824000 65824 Inner Tube Welded Assembly, Folding Base 311.60$         

65827000 65827 Bulb Adjustment Mechanism (less Collet) 147.80$         

65844000 65844 Anode Support Collet Assembly, 2kW 99.90$           83070 / 83080

65845000 65845 Cathode Contact & Hardware 53.50$           

65858000 65858 Igniter Case & Coil, Potted Assembly 364.50$         

65866000 65866 Cap, Exhaust Stack 58.40$           

65867000 65867 Centering Plug, 10 & 11 Reflector 23.40$           

65869000 65869 Anode Adapter Clamp & Hardware 40.40$           

65923000 65265 Contact & Lead Assembly 67.50$           

65923000 65923 Negative Contact & Lead, 2.5kW 67.50$           

65924000 65924 Cathode Support Collet (.312 ID); 2.5kW, 2kW HS 78.90$           

65932000 65932 Blower Assembly, 115VAC, 50/60 Hz 202.70$         

65933000 65933 Heat Filter Bracket, Welded Assembly 90.50$           

65935000 65935 Lamphouse/Power Supply Interconnect Cable 564.30$         Spotlight

65936000 65936 Reflector & Flange, Potted Assembly, 10 1,697.20$     

65938A00R Xenon Super Trouper AC Igniter (Reconditioned) 1,195.00$     

65948000 65948 Lead Assembly, Shunt to Bulb Contact 37.80$           

65951000 65951 Lamphouse Wire Harness Assembly 335.00$         

65959000 65959 Focus Screw & Bearing Assembly 36.90$           

65960000 65960 Rear Bulb Support Collet (.475 ID Socket) 65.80$           

65966000 65966 Igniter Lead & Clamp Assembly 66.60$           

65968000 65968 Cover Panel Assembly, Bulb Adjust Mechanism 28.90$           

65969000 65969 Base Adapter Assembly, Lume-X 122.30$         

65992B00 65992B Igniter Printed Circuit Board Assembly, Complete 552.30$         

71099000 Pivot Bushing 18.00$           

71101000 71101 Circuit Breaker, 15A 63.20$           

71125000 71125 AIR Indicator Light 52.70$           

71144000 AC Hour Meter 122.40$         

71184000 71184 Leveling Foot 27.80$           

71205100 71205 3/16 Swivel Button Rear Door 13.00$           

71206000 71206 Circuit Breaker, Rocker Type, 10A 67.40$           

71213000 Pedestal Support Shaft 89.90$           

71220000 71220 Blower, 115VAC, 50/60 Hz (6 Round Frame) 96.60$           

71231000 71231 Spacer Block, 2 64.90$           

71241000 71241 Teflon Insulation Washer 8.80$             

71242000 71242 Flanged Insulation Bushing, Teflon 29.10$           

71243000 71243 Anode Adapter, Osram HSC, Highlight 111.90$         

71268000 71268 Circuit Breaker, 35A, 3 Phase 280.40$         

71284000 71284 Cam Lock with Keys, Lamphouse & Console Doors 16.90$           

71289000 71289 Silastic Tubing (Bulb Lead Insulator), 15-3/4 23.80$           

7132001 7132001 Ammeter, 0-100 Amp. 50 mV. 69.80$           

7132004 7132004 Ammeter, 0-150 Amp. 50 mV. 193.10$         

7134002 7134002 Replacement Decals, Radiance 47.50$           

7134003 7134003 Replacement Decals, Super Trouper 60.00$           

71400000 71400 Collar, 1/4 ID 5.30$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 15 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

7145000 Time Delay Relay, 115 V.AC, 60 Sec. 44.00$           

7151007 7151007 Shoulder Bolt, 3/16" x 3/8" x 8-32 15.90$           

71570000 71570 Filler Plate, Blank; Super Highlight 21.00$           

71573000 Card Holder 15.80$           

7158001 Spring for CID, Stainless Steel 8.80$             

7158006 7158006 Compression Spring, Reflector 8.50$             

71609000 71609 Lamp Record Card 2.00$             

71627000 71627 Blower, 220VAC, 50/60 Hz (Euro Console) 200.30$         

71629000 71629 Circuit Breaker (Switched), 220VAC, 5A 95.60$           

71630000 71630 Circuit Breaker (Switched), 220VAC, 10A 92.80$           

71636000 71636 Bulb Pedestal Focus Shaft 63.20$           

71645000 Remote Douser Shaft 108.30$         

71660000 71660 Circuit Breaker (Switched), 240VAC, 16A 63.70$           

71676000 71676 Bulb Support Block (Tall), 2 req'd 45.80$           

71775000 71775 MASTER Contactor, 220VAC 372.90$         

71809000 2U Vent Panel 23.30$           

71875000 71875 Fan Panel, Super Highlight 63.00$           

71933000 71933 Solderless Barrier Strip, (10) Terminal (AC Input) 186.20$         

71934000 71934 Highlight Nose Cone, Simplex 54.90$           

71937000 71937 Remote Control Cable (Long) 99.10$           

71938000 71938 Remote Control Cable (Short) 93.70$           

71946000 71946 Elapsed Time Meter, 60 Hz 138.20$         

71955000 71953 Igniter Assembly 2,247.80$     

71955000 71954 Igniter Assembly 2,247.80$     

71955000 71955 Igniter Assembly 2,247.80$     

71966000 71966 Cathode Adapter, 2500W 146.40$         also used w/ 2 & 3kW, Type HS

71967000 71967 Cathode Adapter, 2000W 159.00$         

71969000 71969 Anode Lead Assembly 30.40$           

7198020 7198020 IREM Igniter, 165 Amp. 40 kV. 1,066.30$     

7198023 Power Supply Assembly, 850 W. EmArc 1,718.90$     

7198027 7198027 Horizontal (Pan) Bearing Assembly 540.00$         

7198905 7198905 Standoff, 1-3/8" Thrd. 8-32 10.10$           

7200075 Iris Linkage 52.40$           

7200147 Digital to Analog Control Panel 597.00$         

7200149 7200149 Input Harness, Analog Control Board 15.90$           

7200151 Voltage Divider Board Harness 62.00$           

7200164 7200164 Lamphouse Top & Side Access Cover 167.80$         

7200215 Lamp Control PCB, 12 V.DC 118.10$         

7200230 Front Lamp Clamp & Lead Assy Kit 61.10$           

7200241 7200241 Plate, Highlight II Distribution Panel 25.90$           

7200244 Spark Air Gap Ignitor 42.10$           

7200280 7200280 Blower, Wired Assembly, 220 V.AC 183.00$         

7200281 7200281 Bulb Lead Kit, Gladiator IV 102.50$         

7200407 7200407 Air Deflector, Right 17.80$           

7200409 7200409 Air Deflector, Left 19.30$           

7200500 Flanged Reflector, 14.5 Dia. Dichroic Coated 2,268.10$     

7200503 Heat Filter, 5.5 Dia. Glass 541.10$         

7200504 Heat Filter Assembly, 5.5 Ver. 3 565.50$         

7200508 CID Printed Circuit Board Assembly 364.50$         

7200515 7200515 Front Brace, Bulb Enclosure 71.00$           

7200533 7200533 Wire Harness, Highlight IIA 79.70$           

7200592 Lower Panel, Off-Operaator Side, Highlight IIA 123.00$         

7200594 Lamphouse Access, Off-Operator Side, Highlight IIA 96.70$           

7200618 Negative Lead Assembly, Igniter to Shunt 36.70$           

7200622 Reflector Housing, Right Side, Aluminum 38.70$           

7200623 Reflector Housing, Left Side, Aluminum 53.70$           

7200638 Anode Support Collet, 2-3 kW HS Gladiator IV 272.80$         

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 16 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

7200650 Bulb Support Assembly, Highlight IIA 138.00$         

7200655 Bulb Support Insulator, Highlight IIA 8.60$             

7200656 Bulb Support Duct Assembly, Highlight IIA 138.30$         

7200717 Gel Ring Assembly 100.80$         

7200724 Collet Extension, 1.813 46.60$           

7200739 Trouperette Nameplate 26.40$           

7200783 LAMP Control PC Board, Highlight IIA, 12 V.DC 163.70$         

7200784 Lamp Control PC Board Assy, Highlight IIA, 120 V.AC 97.20$           

7200808 Filter Rataining Bracket, Highlight IIA 22.70$           

7200829 Bulb Support Welded Assembly, Highlight IIA 39.30$           

7200905 7200905 Color Frame Release Lever 45.50$           

7200913 Highlight IIA AC Igniter Assembly, IREM (optional) 1,319.20$     

7200943 7200943 Hose Mount & Flange Assembly 25.90$           

7200944 Exhaust Stack, 10 63.80$           

7200957 7200957 Base Column, Welded Assembly 575.80$         

7200969 Dimming Iris, Radiance 302.20$         

7200972 7200972 Linkage Arm, Dimming Iris 60.30$           

7201021 Friction Brake Pad, Chromed 23.70$           

7201027 7201027 Plate, Instrument Panel 60.70$           

7201031 7201031 Lamphouse to Power Supply Cable 547.20$         

7201033 7201033 Lamphouse PC Board Assembly 59.70$           

7201034 7201034 Lamphouse Wire Harness, AC 58.10$           

7201035 7201035 Lamphouse Wire Harness, DC 61.90$           

7201038 7201038 Blower, Wired Assembly, 120 V.AC 142.40$         

7201071 7201071 Radiance Counterweight 43.70$           

7201073 7201073 Boomerang "Safety" Label 3.50$             

7201076 Handle, Radiance Dimming Iris 43.70$           

7201095 7201095 Lamphouse Top Cover Plate 28.90$           

7201096 7201096 Optical System Cover Plate 28.20$           

7201137 7201137 Framer Disc, Vertical 60.00$           

7201138 7201138 Framer Disc, Horizontal 60.00$           

7201142 7201142 Roller Bearing 28.50$           

7201175 7201175 Gladiator IV 2-3 kW Bulb Adapters 326.20$         

7201177 Igniter Cable, Short 21.00$           

7201222 Lamphouse Top Cover Plate with 6 Exhaust Stack 71.00$           

7201267 7201267 Heat Shield Standoff, Short 37.50$           

7201268 7201268 Heat Shield Standoff, Long 69.40$           

7201269 7201269 Spacer, 2.135" x 3/4" O.D. 59.10$           

7201272 7201272 Reflector, 11" Flanged, Hot Coated 1,408.30$     

72178000 Interlock Switch Bracket 12.80$           

72192000 Ring Terminal, 10 AWG 2.60$             

72275000 72275 Switch, Pushbutton 21.80$           

76132000 76132 Capacitor, .005 µf, 600W VDC 3.80$             

76133000 76133 Capacitor, .01 µf, 400W VDC 6.00$             

76181000 76181 Face Shield 46.40$           

76323000 Capacitor, 10µF 370V 32.80$           

77198000 77198 Silicon Bridge Rectifier, incl. (6) Diodes 803.40$         

78108000 78108 Blower, 220VAC, 50/60 Hz 225.60$         

78133000 75187 Switch, Air Flow 28.10$           

78133000 78133 Switch, Air Flow 28.10$           

78984000 78984 Indicator Light, 220VAC 20.50$           

79107000 79107 Circuit Breaker, 5A 18.10$           

79127000 79127 Capacitor, .01 µf, 1000VDC 3.80$             

80000068 80000068 Canto Reflector, 68mm 51.90$           

80000515 Canto Main Cable 53.60$           

80005029 80005029 Canto Dimming Iris 287.30$         

80010068 80010068 Canto Condensor Lens 123.90$         

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 17 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

80045783 80045783 Canto ON-OFF Switch Contact 21.70$           

80168000 81271 Switch 30.40$           

80168000 80168 Switch 30.40$           

80177000 80177 Capacitor, 1.0 + 1.0 µf, 600W VDC 150.60$         

80195A00 80195A Ring Terminal, 22-16 AWG 2.00$             

8108007 84151 Electrolytic Capacitor, 12,000 µf, 200W VDC 186.00$         

8108007 77204 Electrolytic Capacitor, 12,000 µf, 200W VDC 186.00$         

81129000 81129 Pivot Pin, Anode Support Casting 37.50$           

81137000 81137 Magnet Clamp 41.60$           

81143000 81143 Appleton Connector 60.80$           

81148000 81148 Casting, Douser Plate 107.90$         

81187000 81187 Douser Torsion Spring 7.10$             

81234000 81234 Rubber Bumper, Douser Plate 5.60$             

81247000 81247 Shunt, 200A, 50 mV 107.30$         

81276000 81276 MODE Auto-Man. Switch 19.10$           

81282000 81282 Xenon WARNING Plate 17.30$           

8130002 LED, Diffused Green 3.00$             

8130014 2353-0300 Fuse, 3A, 250V 2.80$             

81301000 Insulator Body 203.50$         

8132011 Hour Meter, 8-32 V.DC 63.20$           

81341000 81341 Anode Pin Retaining Collar, 4kW (.375 dia. Pin) 27.70$           

81342000 81342 Flanged Teflon Insulator, 4kW (.375 ID) 31.60$           

81343000 81343 Flat Teflon Insulator, 4kW (.375 ID) 8.30$             

81345000 81345 Anode Pin Retaining Collar, 3kW (13mm dia. Pin) 43.90$           

81346000 81346 Flanged Teflon Insulator, 3kW (13mm ID) 35.40$           

81347000 81347 Flat Teflon Insulator, 3kW (13mm ID) 12.80$           

81348000 81340 Rubber Insulation Tubing, 14.5 21.00$           

81348000 81348 Rubber Insulation Tubing, 14.5 21.00$           

81349000 81349 Cable Splice Connector 28.10$           

81389000 81389 Anode Collar, 3kW Hanovia L5328-000 (.406 pin) 21.80$           

81432000 81432 Shoulder Screw, Douser Plate 20.50$           

81501000 81338 Anode Support Casting 136.00$         

81501000 81501 Anode Support Casting 136.00$         

81514000 81514 Beam Expander, Lens Only 1,236.80$     

81519000 81519 Zener Diode, 1N53618, 27 V. 5 W. 3.10$             

81545000 81545 Air Vane for 78133000 Switch 14.20$           

8156007 8156007 Standoff, PCB Mount, 11/16 Threaded 4-40 7.00$             

8161028 23869 Rocker Switch, LAMP 28.40$           

8161041 8161041 Switching Circuit Breaker, 50A, 3 Phase 194.40$         

81847000 81847 Lens Holder Bracket, Welded Assembly 111.80$         

81848000 81848 Beam Expander Lens & Ring Assembly 1,301.30$     

81851000 81851 Lens Ring, Welded Assembly 55.20$           

81858000 Cap Assy 51.70$           

81861A00 81861A Igniter PC Board Assembly 170.20$         

81871A00 81871A X-60 Reflector & Flange, Potted Assembly, 15 2,403.00$     

81883000 81883 Xenon Bulb Mounting Kit, 3kW, X-60 & Highlights 503.60$         

81888000 81888 Xenon Bulb Mounting Kit, 4kW, X-60 & Highlights 407.50$         

81901000 81901 Cathode Contact & Lead Assembly 157.80$         3, 4, 4.2, & 4.5kW

81906000 Aligning Kit 236.10$         

81919000 81919 Positive Lead Assembly 103.70$         

81920000 81920 Lead, Insulator, & Feed-Through Terminal Assembly 241.00$         

81947000 81947 Capacitor Assembly 19.60$           

8198057 4026-1840 Blower, 110 CFM, 115VAC, Squirrelcage 223.30$         

82167000 82167 Shunt, 150A, 50 mV 83.60$           

83100000 83100 XENON Insignia 11.20$           

83102100 83102-1 Chrome Trim Strip, Short 14.00$           

83102200 83102-2 Chrome Trim Strip, Long 21.70$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 18 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

83103000 83103 Spring Clip Fastener, Trim Strips 4.10$             

83112000 49215 Collar 132.40$         

83112000 83112 Collar 132.40$         

83131000 45226 Fan Grille 7.70$             

83131000 83131 Fan Grille 7.70$             

83133000 83133 Fade-Out Blade Pull Rod, Upper (Short) 28.00$           

83134000 83134 Fade-Out Blade Pull Rod, Lower (Long) 29.40$           

83144000 83144 Projection Lens Barrel 235.30$         

83155000 83155 Retaining Ring, Projection Lens 10.20$           

83163000 83163 Pulley, 1-3/8 O.D. 26.10$           

83181000 83181 Iris Masking Plate 9.90$             

83294A00 83294A Height Adjustment Pin, 7/16 Dia. 13.00$           

83302000 83302 Large Lens, 8 Dia. 445.30$         

83328000 83328 Cover Plate, Optical System Control Levers 37.10$           

83341000 83341 Cable Clamp 7.20$             

83357000 83357 Cover Panel, Yoke Quadrant 23.10$           

83364000 Support Mounting Bracket 106.10$         

83381000 83381 Swivel Clamp Collar 269.70$         

83386000 83386 Thrust Bearing 17.10$           

83388000 83388 Bearing Race 11.40$           

83410000 83410 Coil Spring, Stainless Steel; Bulb Shock Mount 7.40$             

83743000 83743 Saddle Assembly 360.50$         

83745000 83745 Leg T-Bolt 33.40$           

83747000 83747 Front Bulb Support Assembly, 2kW 140.50$         

83748000 Shock Mount Ring 61.20$           

83773000 Aperture Support Plate, Welded Assembly 147.10$         

83775000 83775 Large Lens Assembly 605.30$         

83782000 83782 Rubber Light Baffle (Rear), Lens System Housing 20.40$           

83788000 83788 Aperture Assembly 888.10$         

83790000 83790 Fade-Out Assembly 434.80$         

83794000 83794 Inner Tube Assembly 310.20$         

83797000 83797 Base Leg, Welded Assembly 165.20$         

83891000 83891 Upper Fade-Out Blade 115.50$         

83892000 83892 Lower Fade-Out Blade 124.10$         

84112A00 84112A Diode, 85A, 600V 27.60$           

85109000 85109 Air Vane Switch 15.30$           

85112000 85112 Silicon Diode, 3A, 1000 PRV 2.80$             

88116000 94189 Contactor, 3 Pole, 115VAC Coil, 50/60 Hz 148.40$         

88116000 88116 Contactor, 3 Pole, 115VAC Coil, 50/60 Hz 148.40$         

88118000 77160 Thermal Switch, 190° F (88° C.) 99.30$           

88118000 88118 Thermal Switch, 190° F (88° C.) 99.30$           

88233000 88233 Electrolytic Capacitor, 37,000 µf, 75VDC 120.40$         

88233000 88117 Electrolytic Capacitor; 37,000 µf, 75VDC 120.40$         

88253000 61994 Cord & Molded Plug 7.10$             

88253000 88253 Cord & Molded Plug 7.10$             

88263000 88263 Capacitor, .05 µf, 600VDC 5.20$             

88318000 88318 MS Connector, (14) Pin Male 104.80$         

88319000 88319 MS Receptacle, (14) Pin Female 133.50$         

88982000 88982 Diode & Resistor Assembly 73.20$           

90473000 90473 Compression Spring, 1 Free Length 11.30$           

90712000 90712 WARNING Plate, Reflector Care 8.70$             

91199000 E-Ring, External for 5/16 2.00$             

94127A00 94127A Terminal Lug, #3 Wire, 1/4 Ring 7.40$             

94129000 Ring Terminal, 4 AWG 7.20$             

W2240000 W224 Cable, 6 AWG, White Fibreglass Insulated 8.30$             

WA-0005 WA-0005 Fiber Thrust Washer, 5/8 O.D. 6.80$             

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 19 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

High Reactance Power Supplies
6108027 Electrolitic Capacitor, 200VDC, 5400 µf, 20% 175.60$         

6171009 Wire, 4 Ga. Flex PVC H691 (Black) 7.50$             

6171010 Wire, 4 Ga. Flex PVC H671 (Red) 7.50$             

61984000 Stepdown Transformer, 208/230 to 115V 204.40$         

6270050 MS Connector Harness, FXPS 179.90$         

8108005 2043-3402 Poly Film Capacitor, 400VDC, .33 µf, 10% 8.60$             

8108007 Electrolytic Capacitor, 10,000 µf, 250V 186.00$         

8114001 2503-4096 Contactor, 115 V.AC, 50/60 Hz Coil 324.10$         

8130014 2353-0300 Fuse, 3A, 250V 2.80$             

8145008 2501-3150 Relay, 48VDC, 10A, DPDT, Plug-In 67.30$           

8146026 Resistor, 100 Ohm, 100W, 5% 34.30$           

8147001 Diode, 100A, 300V (1N3290R) 54.70$           

8147004 Diode, 100A, 300V (1N3290) 54.70$           

8162001 Terminal Block 36.80$           

8198057 Blower, 110 CFM, 115VAC, Squirrelcage 223.30$         

8220032 1138158-3 Heat Sink 98.50$           

8240434 2292-3020 Buss Bar, Diode Lead Connection 8.50$             

8240434 11574 Buss Bar, Diode Lead Connection 8.50$             

8240434 9198031 Buss Bar, Diode Lead Connection 8.50$             

8270014 9026 Relay Socket Assembly, with C5 Capacitor 163.30$         

8270091 Jumper Wire Assy, High Reactance Power Supplies 24.10$           

9164001 1148160-4A Transformer, 380/440VAC, 50/60 Hz, 4kW 2,088.80$     

9164004 1148160-11A Transformer, 208/230VAC, 50/60 Hz, 3kW 2,476.10$     

9164006 1148160-14A Transformer; 380/440VAC  3kW 2,770.10$     

9164007 1148160-12A Transformer, 380/440VAC, 50/60 Hz, 7kW 3,082.30$     

9164008 1148160-9A Transformer, 208/230VAC, 50/60 Hz, 2kW 1,982.80$     

9164012 1148160-2A Transformer, 208/230VAC, 50/60 Hz, 4.5kW 2,052.90$     

9198027 Blower, 250 CFM, 115VAC, Muffin Type 155.90$         

9198027 4028-2820 Blower, 250 cfm, 115 V.AC, Muffin Type 155.90$         

9270063 9270063 Bridge Rectifier, Diode Assembly 686.90$         

9270064 11487 Wiring Harness, HRPS 90.60$           

9270065 11514 PCB Assembly, HRPS Power Supply 388.40$         

ORC
2140011 2263-9222 Connector, 12A, 250V, Cord Mount 3.10$             

2140019 2263-9211 Connector, 12A, 250V, Panel Mount 3.20$             

2140060 2286-0293 Molex Plug 2.70$             

8105012 988348 Timing Belt, .125 x 40.0 .08 Pitch 18.20$           

8105024 4606-0018 Timing Belt, Metric; 711-3M-15 44.90$           

8108073 2085-3155 Electrolytic Capacitor, 150VDC, 5300 µf 127.70$         

8109001 8109001 Caster, 3" Dia. 57.20$           

8114003 Contactor, 208/240 V.AC, 50/60 Hz. 144.90$         

8121001 2376-0044 Fuse, 15A, 250V 4.30$             

8121004 2353-1A10 Fuse, 10 Amp. Slow Blow 7.30$             

8130005 2856-0020 LED, Super Brite Red 6.80$             

8130008 2856-0016 L.E.D.  Amber or Yellow 4.70$             

8130010 2432-9430 Lamp, 28 V. 4.00$             

8130030 Green LED Holder 4.50$             

8132001 2479-1216 Elapsed Time Meter, 120V, 60 Hz 98.80$           

8132004 2479-1215 Elapsed Time Meter, 110V, 50 Hz 92.80$           

8132007 2480-0064 Hour Meter, 110V, 60 Hz 109.10$         

8132009 1144728-11 Meter, 0-200 A. 0-80 V. 170.30$         

8133026 Blower, Shaded Pole, 230 V.AC 207.10$         

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 20 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

8135007 5416-0079 Knurled Brass Finger Nut 4.70$             

8139001 Film Stabilizer Plate, 35mm 90.10$           

8139008 1239039-1 Plate Collector 80.20$           

8140005 2286-0042 Receptacle, 125 V. 20.10$           Hubbell 5258

8145016 8145016 Relay, 120 V. 15 A. 3PDT 52.00$           KUMP14A18

8147005 2787-4081 Stud Mount Rectifier, 85A, 600V 50.30$           

8161010 3050-0460 Thermal Switch, Open @ 210° F 22.80$           

8161011 2966-0019 Switch, Cutler-Hammer 25.10$           

8161015 2151-1005 Circuit Breaker, 250V, ½A 85.70$           

8161022 2152-2200 Circuit Breaker, 240VAC, 20A, Toggle 128.80$         

8161045 93382 Circuit Breaker, 30A, 3 Pole 182.30$         

8161047 2155-0011 Circuit Breaker, 10 A. Rocker Tpe 127.60$         

8161066 2957-1232 Plastic Toggle Switch, SPDT, 15A, 125VAC 49.60$           

8164002 1141816-1 High Voltage Transformer 238.80$         

8164005 1141813-1 High Voltage Transformer 190.70$         

8169002 2641-3530 Potentiometer, 5k Ohm, 10%, Servo Mount 202.40$         

8169008 2636-3530 Potentiometer, Lin, 5k Ohm, 10%, Bush Mount 137.00$         

8198075 4040-2010 Motor Brush 61.30$           

8198102 1331118-1 Pair, 45° Folding Mirrors 934.90$         

8198208 1135945-3 Insulator 19.20$           

8198447 Analog L.E.D. Assembly, LED-M-CA/S 696.30$         

8220334 1228537-1 Brass Miter Gear 82.80$           

8220396 1134685-1 Brass Gear, Modified 82.10$           

8250005 1144458-1 Reflector Assembly, 12.5 2,020.30$     

8250010 1145042-1 R.F. Transformer 521.30$         

8250015 1341041-1 Igniter RF Transformer 429.70$         Disney

8250019 1249095-1 Mirror Assembly, 45° 1,112.50$     

8270029 1341042-1 Igniter Assembly 1,115.60$     Disney

8270034 1140887-1 Igniter Assembly, M-1000, 1 - 1.6kW 1,076.70$     

8270035 1145169-1 Igniter Assembly, V2000/4500 1,262.00$     

9114002 2503-4086 Contactor, 110VAC, 30A, 3PST 101.00$         

9114004 9114004 Contactor, 20 A. 120 V.AC (4) Pole 147.90$         

9117001 2736-7510 Zener Diode, 5W, 75V 20% (1N5374) 5.80$             

9118001 3506-0011 Swell Latch, Plastic 19.40$           

9147003 2787-4080 Stud Mount Rectifier, 85A, 600V 53.40$           

9147005 2787-3081 Stud Mount Rectifier, 85A, 300V 38.60$           

9147006 2787-3080 Stud Mount Rectifier, 85A, 300V 38.60$           

9147008 2767-6010 Bridge Rectifier, 1.5 A. 60 V. 5.50$             

9149001 1137595-1 Half Roller, 35mm, 2 Dia. 4.90$             

9149003 911282 Flanged Roller 11.60$           

9171002 3160-0310 Power Cord, 18/3, 7 Amp. 14.90$           

9198028 1130730-1 Infrared Filter Matched Pair 284.90$         2 required

9198032 780404 Blower, 140 CFM, 115VAC 648.10$         

9250016 1140452-1 R.F. Transformer Assembly 399.80$         

9270004 1222792-1 Air Gap Kit 126.40$         Spark Gap Assembly

9270019 1231400-10 Lead Assembly 62.70$           

9270025 1231400-16 Cable Assembly, Positive Terminal to Igniter, 50 58.20$           

9290013 1148858-1 Roller Assembly, 35mm, 2 108.70$         

9290015 1236892-1 Take-Up Ring Assembly, 35mm 228.10$         

9290025 1217781-1 Terminal Strip Assembly 60.80$           

R3200000 Optimax Reflector, 12.50 in. 1,774.40$     

Switching Power Supply
2121042 Fuse 10A 3.20$             

6108070 Capacitor, 2200µF 200VDC 23.40$           

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 21 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

6113007 Amphenol Plug, (15) Pin 19.00$           

6117001 Diode Bridge 108.70$         

6117008 Diode 400V 70A UFR7140R 35.10$           

6117009 Diode Switching UFT, 14150-A FA 93.60$           

6117026 Diode, CRVT 200 12.80$           

6117037 Diode 120 Amp Fast 22.70$           

6117048 Sidac, K223 4.60$             

6121003 HPD Fuseholder 29.80$           

6121006 Fuse 65.40$           

6140007 AC Input Receptacle 125.80$         

6145009 Relay, 12 V.AC, K10P 29.00$           

6146028 Resistor 5 Ohm 50W 23.20$           

6161001 2152-3300 Circuit Breaker, 30A, 3 Pole, Switching Power Supply 147.40$         

6161002 Circuit Breaker, 3A, 1 Pole Switching Power Supply 23.60$           

6162012 2/0-8 Terminal Block 66.10$           

6162014 Terminal Block, (2) Position 37.10$           

6162015 Terminal Block, (4) Position 27.90$           

6164051 Transformer, 12/24 @ 1A 110/220 Primary 46.20$           

6165019 IGBT Intl Rect 600V 30A 17.70$           

6169003 Potentiometer, 5k Ohm, PCB Mount 7.00$             

6172014 LEM Module, LA125P 136.90$         

6172015 Control Printed Circuit Board Assembly 612.20$         

6198002 Fan, 115VAC, 50/60 Hz, 4 47.40$           

6198035 Line Filter 117.60$         

6200028 6200028 Cabinet Side Cover, Ventilated 18.40$           

6200034 6200034 Rear Vent Panel 22.70$           

6220022 10505 Insulated Support 86.70$           

6270011 Secondary Power Assembly #2, 220 V 663.80$         

6270013 10509 Secondary PC Board, Section 1 877.90$         

6270014 10501 Primary PC Board, Section 2 564.50$         

6270015 10511 Primary PC Board, Section 1 689.80$         

6270023 10860 Stepdown Transformer, AC Control 307.80$         

6270025 10910 MS Connector, Wired Assembly 226.30$         

6270028 10944 Current Control PC Board Assembly, Plug-In 113.20$         

6270030 10950 Lamphouse Termination Panel Assembly 254.80$         

6270032 Potentiometer & Cable Assembly, Current Control 89.30$           

6270044 11193 MS Harness 4 & 7K 312.30$         

Britelight/SkyTracker
3102052 Filter Air 10 X 10 X 7/8 13.00$           

3105001 Belt Timing 1/2P 1.5W 225.20$         

3108092 Cap El 24µF 400V Can 28.00$           

3126003 Duct, Duravent Type U-8 Black 51.20$           

3133003 Motor Controller KBMG-212-D 609.00$         

3133024 Motor St4 577.70$         

3133025 Motor 90V DC ST1 871.60$         

3140002 Plug Twist Lock 7485-NP D-1 33.90$           

3146059 Thermistor 1 Ohm 30 Amp NTC 15.70$           

3158004 Spring .79 OD X 18 X .078 35.30$           

3158015 3150009 Coil Spring 2.50$             

3159001 Sprocket 1/2 P 10T 3/4 B 37.60$           

3161004 Rocker Switch 2P 230V 6A 7100074 76.50$           

3161005 Sw Micro W/Roller Lever 14.90$           

3161007 Sw Thermal 220° 27.80$           

3161018 Switch Spark Gap 118.50$         

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 22 of 23



Strong Parts
Strong Cinema and Lighting Products

 2008 Suggested Retail Prices

Part 

Number

Reference 

Number

Description  List Price Notes

3161073 Switch Thermal 300° W-.25 QC 41.30$           

3161115 Circuit Breaker 40 Amp 3P5600401 252.00$         

3161134 3161134 Thermal Switch, Open at 325° F. 16.30$           

3162006 Molex Female Terminal Pin 18-24 GA 2.00$             

3162007 Molex Male Terminal Pin 18-24 GA 2.00$             

3162037 Terminal Block Dbl Scewr Barrier 7.90$             

3164002 Transformer Ignitor HID 250/400 40.50$           

3171017 Grommet Cord .125 Dia 3.80$             

3172002 Circuit Breaker 10A 1P Pop Out 67.40$           

3198046 UV Lens Nocturn 400 and 600 232.20$         

3198051 Switch Membrane N400 Rev X5 29.60$           

3198097 Glass Temp 20.75 Cir X 3/16 62.00$           

3198100 Top Molded ST4 579.70$         

3198124 Shipping Head Retainer 263.20$         

3198395 Ps Hid Ballast 250W 60 Hz 178.90$         

3198635 Ball Joint Male 1/4-28 31.90$           

3200020 322-0329 Fan Gasket 83.60$           

3200224 3200224 Collar, Blower Box 95.10$           

3200314 STX-4 Auto Strike Board Assembly 182.00$         

3200337 Clip Skytracker-4 Head Cover 23.60$           

3200338 Clip Skytracker-4 Frame 15.30$           

3200578 3200578 Ignition & Timer PC Board 349.00$         

3200623 3200623 Interconnect Kit, SkyTracker Type "B" 1,605.90$     

3200628 3200628 Reflector Bulkhead, 2 kW Briteight 139.20$         

3200793 3200793 Flexible Air Duct, SkyTracker 28.20$           

3220076 125-0101 Spring Cap, Black Oxide 19.90$           

3240098 Frame Head Weld Assy 708.10$         

3240550 Hinged Access Door 218.40$         

3250023 Assembly Spring St4 193.90$         

3250032 Transformer Ignitor Assy 120V 9KV 426.10$         

3250033 Transformer Ignitor Primary Assy 1 & 2K 400.70$         

3250034 Tranformer RF 1-2K 567.30$         

3250036 Ignitor RF Trap 118.20$         

3250053 Xfmr Rf 4-10K 664.60$         

3250055 Fan 240V 148 CFM ST 194.60$         

3270025 DMX Relay, CCA 346.60$         

3270114 ST 2K Head Feeder 305.00$         

3270116 PCB ST Auto Strike Board Assy 320.90$         

3270242 PCB Control Panel STX4 208V 515.10$         

3270317 STX4 Power Factor Capacitor Assy 374.40$         

3270318 STX Pwer Supply PCB Assy 422.70$         

Notes
The parts listing above is not all inclusive.  Please contact your dealer or the factory for assistance in identifying  additional items not listed.

Common hardware items are not listed, but are available for sale at $2.00 per item.

To return any item you must request a Return Materials Authorization (RMA).  A 15% restocking charge may be made on returned goods.

A minimum order of $25.00 is required.

Effective March 1, 2008
All prices are in US$ and FOB origin

Prices are subject to Change without notice. Page 23 of 23


